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2. Multiply and reduce to lowest form (if possible) :
02,2 o 2,7 L 3.6 . 9.8
@) o @ 7%3 @) =7 ) 373
115 NN e
™ 373 ™ 5% o) 373
3. Multiply the following fractions:
2 .1 2.7 3 .1 S .53
i) =X5— i) 6—X— i) —X5— iv) —X2=
® 5% ® °3% ® 373 M 6%
2.4 3 4 3
3—x— i) 2=%3 i) 3=%X—
) 5%7 M) 43 (i) X3

4. Whichis greater:

2 3

i) = of - ) f f E f
(1) 0 or 5 0 0 or 3 0

oo |

\ 1
7% 4 @* 5oty 7

5. Saili plants 4 saplings, in arow, in her garden. The distance between two adjacen

saplings is 2 m. Find the distance between the first and the last sapling.

3
6. Lipikareads a book for lzz hours everyday. She reads the entire book in 6 days

How many hours in all were required by her to read the book?
3
7. Acarruns 16 km using 1 litre of petrol. How much distance will it cover using 22

litres of petrol.

10

8 i) Provide the number in the b hthat 2x[ ] =2
. (a) (1) Provide the number in the ox[],suc that 3 30

(ii) The simplest form of the number obtained inDis .

o~

Y 3 24
E/fg\‘) (b) (i) Provide the number in the box D , such that gXD = % :
2& (i1) The simplest form of the number obtained in D is

\

2.4 DivisioN oF FRACTIONS

John has a paper strip of length 6 cm. He cuts this strip in smaller strips of length 2 cn
each. You know that he would get 6 + 2 =3 strips.
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The two squares are exactly similar. =N

1
Each shaded portion represents 2 of 1.

1
So, both the shaded portions together will represent 2 of 2.

1
Combine the 2 shaded 2 parts. It represents 1. /

1 1
So, we say 3 of 2 is 1. We can also get it as B x2=1.

1 1
Thus,50f2=5 x2=1 Fig 2.6
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Also, look at these similar squares (Fig 2.7).

1
Each shaded portion represents = of 1.

2
; 1 &
So, the three shaded portions represent 3 of 3. /
Combine the 3 shaded parts.
1. 3
It represents IE ie. 7.
13 1 3 Fig 2.7
So, 3 of 3 is E.Also. 3 x3=5.

1 1
Thus, 3 of3=5 x3==.
So we see that ‘of” represents multiplication.

Farida has 20 marbles. Reshma has b th of the number of marbles what

Farida has. How many marbles Reshma has? As, *of * indicates multiplication,

1
50, Reshma has 3 x 20 =4 marbles.

Sty aehavs oL 161 aklb = Y=g
imilarly, we have 20 1S 2 = B = 9.

1 1 2
Can you tell, whatis (i) 2 of 102, (ii) 7 of 162, (iii) 3 of 25?

1
ExampLE 5 Inaclass of 40 students 3 of the total number of studetns like to study

2
English, 5 of the total number like to study Mathematics and the remaining

students like to study Science.
(i) How many students like to study English?
(i) How many students like to study Mathematics? /
(iii) What fraction of the total number of students like to study Science?

SoLuTION  Total number of students in the class = 40.
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students like to study Science.

(i) How many students like to study English?
(i) How many students like to study Mathematics?
(iii) What fraction of the total number of students like to study Science?

SoLuTiON  Total number of students in the class = 40.

1
(i) Ofthese 5 of the total number of students like to study English.
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1 1
Thus, the number of students who like to study English= < of 40= 2 40 =38.

(i) Tryyourself.
(iii) The number of students who like English and Mathematics =8 + 16 =24. Thus, the
number of students who like Science =40-24 = 16.

Thus, the required fraction is .11—?)

EXERCISE 2.2
1. Which of the drawings (a) to (d) show :
@ 2%+ (ii) 2%+ (iil) 32 (iv) 3xk
2 3 4

5
’ \ g =
' \ 1
= CQ ‘\g 8/1 ¢ D : : D

=419 By | U
A K
S - = - i
(©) 1 1 1 r 1 | ‘r' D @ \/ \7
= O T - o g S

b

2. Some pictures (a) to (c) are given below. Tell which of them show:

) ] 1 2 3 1
i) 3x—== i) 2X—== i) 3x—=2—
(i) 575 (i) 373 (i) 2 2
DD L\ LA A
(a) (b)
(©)

3. Multiply and reduce to lowest form and convert into a mixed fraction:

® %3 @ axt @ 2x2 @ sx2 W
5 3 7 9 /

oi) 2x6 o) 1x3 oi) 20xF @ 1Bxd ® L
2 7 5 3
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FRACTIONS AND DECIMALS

1 2
of thecirclesinbox (a) (i) = of the triangles in box (b)

2 3
3
(iii) g of the squares in box (c).
00O A A A ooOooOoo
o AAA oDoooo
00O A LA ooooog
(a) (b) ©

5. Find:

1 2
(a) 2 of (i) 24 (ii) 46 (b) 3 of (i) 18 (i) 27

4
(c) %of (i) 16 (i) 36 (d) 3 of (i) 20 (ii) 35

6. Multiply and express as a mixed fraction :
(a) 3><5% (b) 5x6% (c) 7><2%
(d) 4><6% (e) 3%x6 (f) 3%><8
7. Find: (a) %of (i) 2% (i) 4% (b) %of (i) 3% (ii) 9%

8. Vidya and Pratap went for a picnic. Their mother gave them a water bottle that

2
contained 5 litres of water. Vidya consumed 5 of the water. Pratap consumed the

remaining water.
(i) How much water did Vidya drink?
(i) What fraction of the total quantity of water did Pratap drink?

2.3.2 Multiplication of a Fraction by a Fraction

Farida had a9 cm long strip of ribbon. She cut this strip into four equal parts. How did she
doit? She folded the strip twice. What fraction of the total length will each part represent?

9
Each part will be 4 of the strip. She took one part and divided it in two equal parts by
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I 9
folding the part once. What will one of the pieces represent? It will represent = of —
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2. Multiply and reduce to lowest form (if possible) :
2,2 2.7 3 6 9 3
D Sx2= i) —%X— i)y —X— iv) —X—=
(1 3><_3 (m) 779 (m) 33 (iv) 55
_ IXIS y le3 = 4x12
W 373 ™ 20 M) 577
3. Multiply the following fractions:
2 .1 2.7 3 .1 5..3
) —=x5— i) 6=x— i) —Xx5— iv) —x2=
(1) 5 0% (1) 579 (1) 2773 (iv) 6 -7
2 4 3 4 3
) 3=X= i) 2=%3 i) 3=X—
(v) 577 (v1) 5 (vi) 775
4. Whichis greater:
. 2 .3 3 5 » 1l 8§ 2 3
(1) 70! 1 or ;ul g (i1) 5017 or ;017

5. Saili plants 4 saplings, in arow, in her garden. The distance between two adjacent

3 ; ; S ;
saplings is Y m. Find the distance between the first and the last sapling.

: .3 : : P
6. Lipika reads a book for lz hours everyday. She reads the entire book in 6 days.

How many hours in all were required by her to read the book?

7. Acarruns 16 kmusing 1 litre of petrol. How much distance will it cover using 3%
litres of petrol.
2 10
8. (a) (i) Provide the number in the box E] , such that ;X D - 1_() ‘
(ii) The simplest form of the number obtained in D s
. . . 3 24
(b) (i) Provide the number in the box [:] .such that 3 XD = Th

(ii) The simplest form of the number obtained in Dis ;

2.4 DivisioN oF FRACTIONS

John has a paper strip of length 6 cm. He cuts this strip in smaller strips of length 2 cm
each. You know that he would get 6 =2 =3 strips.



